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=15 FoBBEERDKRE

i %gr% i i (@l FeAriihin 77 (kN) J%.aﬂgwo?‘%i%ﬁa 1
s Fojpm pw (%) ok i /) i B AzkE | min(FENce, 22QB) (kN) 3+4 M| E
" X5 161/Y J7 1] (kN) ZTE) ] 1) | 20l | 36 | 4>
9F [ X5 1) TEAN 735 1) 2FERGE R AR AT DEAIORFTEEOF= 1.00
0 RS TR ORGTEIMITH A
RIS RNV AE T DEAIORGTEEOF= 1.27
A3 1.00 0.10 BB 264.8 | 6829.7 515.9 0.0 0.0 273.7 0.0] oK
B3 1.00 0.10 BB 319.7 | 7351.6 515.9 0.0 0.0 295.4 0.0 oK
RIS RV AE T HEAIORGEHEOF= 1.75
A3 1.00 0.10 BB 264.8 | 3883.0 515.9 0.0 0.0 273.7 0.0 OK
B 3 1.00 0.10 BB 319.7 | 4404.9 515.9 0.0 0.0 295.4 0.0 ok
o5 2R IS B R S A T DB AT O ETBEFE OF = 2.00
Al 1.77 0.10 BB 211.8 0.0 0.0 343.8 0.0 0.0 367.0 | OK
A3 1.00 0.10 BB 264.8 | 3883.0 515.9 0.0 0.0 273.7 0.0 oK
B 3 1.00 0.10 BB 319.7 | 4404.9 515.9 0.0 0.0 295.4 0.0 ok
o 2R IS B R S A T DB RO ET B OF = 2.59
Al 1.77 0.10 BB 211.8 0.0 0.0 0.0 0.0 0.0 367.0 ] OK
A3 1.00 0.10 BB 264.8 | 3883.0 515.9 0.0 0.0 273.7 0.0 oK
B 1 2.00 0.10 CB 364.8 0.0 0.0 0.0 0.0 0.0 332.4 | NG
B3 1.00 0.10 BB 319.7 | 4404.9 515.9 0.0 0.0 295.4 0.0 oK
RIS RV AE T HEAIORGTEHEOF= 3.20
Al 1.77 0.10 BB 211.8 0.0 0.0 0.0 0.0 0.0 367.0 | OK
A3 1.00 0.10 BB 264.8 | 3883.0 515.9 0.0 0.0 273.7 0.0 OK
B 1 2.00 0.10 CB 364.8 0.0 0.0 0.0 0.0 0.0 0.0 NG
B2 2.59 0.10 CB 466.8 0.0 0.0 0.0 343.8 0.0 295.4 | OK
B3 1.00 0.10 BB 319.7 | 4404.9 515.9 0.0 0.0 0.0 0.0 ok
RS R AT HEATORTTEFEOF= 3.50
Al 1.77 0.10 BB 211.8 0.0 0.0 0.0 0.0 0.0 367.0 | OK
A2 3.27 0.10 CB 362.8 | 3883.0 0.0 0.0 0.0 0.0 273.7| OK
A3 1.00 0.10 BB 264.8 | 3883.0 515.9 0.0 0.0 273.7 0.0 oK
B 1 2.00 0.10 CB 364.8 0.0 0.0 0.0 0.0 0.0 0.0 NG
B2 2.59 0.10 CB 466.8 0.0 0.0 0.0 343.8 0.0 295.4 | OK
B3 1.00 0.10 BB 319.7 | 4404.9 515.9 0.0 0.0 0.0 0.0 ok
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